
Конструкция
There is/There are



• Конструкция “there is/there are” обозначает 
«есть, находится».

•  Используется, чтобы рассказать о 
местоположении каких-либо предметов, 
объектов.

There is a boy in the class.

 



There is a computer on the table.

There are pupils in the class.

There is
There 

are
ГДЕЧТО



 Перевести, обращая внимание на 
выделенные слова.

• There are  two chairs in my room.

В моей комнате два стула.

• There are yellow flowers in the book.

В книге желтые цветы.



• Такие предложения  переводятся на 
русский язык с конца. Сначала мы 
скажем, ГДЕ находится предмет, а 
потом – ЧТО это за предмет.

There is a computer on the table.
На столе стоит компьютер.



• There is a – единственное число.

• There are – множественное число.

There is a book   on the table.

There are two books on the table.

is или are 



СЛОВА-ПОДСКАЗКИ  ДЛЯ “There is”

1) Артикль “a”

2) Слово “one” 

СЛОВА-ПОДСКАЗКИ  ДЛЯ “There are”

1) Окончание “s”

2) Числительные больше двух

is или are 



1) There _________ a burger on the table.

2) There _________ trees in the park.

3) There _________  children in the school.

4) There _________ a big tree in the garden.

5) There _________ three boys and girls in the park.

6) There _________ a toy soldier in the box.

Вставьте is или are 
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There isn’t a computer in my room.
There aren’t books on the table.
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1) There is a book on the table. (-)

2) There are  four trees in the park. (?)

3) There is a computer in the classroom. (?)

4) There are three boys and girls in the park. (-)

5) There is a bird in the tree. (?)

Сделай предложения отрицательными или 
вопросительными



1)  There ……… a chair under the window.

a)  are                   b)  aren’t                     c)  is

2)  There are ……… in the school bag.

a)  a pen              b)   books              c)  a book

3)   There ……… two toys under the chair. 

a)  is                    b)   aren’t                      c)  is not

4)    There ………  one sandwich on the table.

a)  isn’t                           b)   are                           c)    is

5)     ……… a bird in the tree?

a)  Is                              b)  Are                    c)  Are not

6) Are there ……… on the table?

 a)    book            b)  a  pen     c)    pencils

Выбери правильный ответ


